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The simple interest on a sum for 9 months at 8%

per annum is F 270. What is the value (in F) of
the sum?

Teh U1 W 8% Ay i <X 9 Hl bl IR AT
270 TIT 2| URT &1 9 (FTUT H) T 272
(1) 5200 (2) 5400 (3) 4500 (4) 3600
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In how much time, at 8% simple interest a sum
becomes its two times ?

8% HYRU AN W Weh UM oo §9a H AN BR1?
(1) 12.5 years/dH (2) 5 years/dd
(3) 6 years/dd " (4) 8 years/ad
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7
A sum at a simple interest of 8% p.a. becomes 5

of itself in how many years?

Teh AU TR0 N1 o6 8% dlfter & d fohdd oui

ﬁm%%’rwm

1 1
(1) 5 (2) 25 (8) 35 (4) 2
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The simple interest on a sum is 9 th of the prin-

cipal for 25 years. What is the rate (in per cent) of
interest per annum?

WWT@TWZ5G§TWWWW%&?W%
Tl =iffer = X (wfaerd H) @ @2

25 9 20 15
(1) 5 (2) 5 (3) (4) 7
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What should be the least number of years in

2
which the simple interest on Rs. 2600 at 6 §%

will be an exact number of rupees ?
3T Ul I FAdH e F B fSH 2600 9T W

6%%ﬁﬂ?@mw TS 1 TR T I T I

&A1 Bl S ?
(1) 3 (2) 2 (3) 5 (4) 4




mémé,// FOR MORE DISCOUNT VISIT www.mahendras.org & USe PROMO CODE : E06321 /

The rate of simple interest on a sum of money is

5% p.a. for the first 4 years, 8% p.a. for the next
3 years and 10% p.a. for the period beyond 7
years. If the simple interest accrued by the sum
over a period of 10 years is Rs. 1,850, then the

sum is :

fordt «UfyT W YR S9N 1 <X U8B 4 99 o fou
5% e &, 3Tl 3 o & feiw 8% anftier @ 3R 7 o
9 A &1 afy & fau 10% aifie 21 afg 10 auf =i
safy o 39 ¥ 9 ifsid wERe =S 1,850 9T 2,
A o8 U @ e?

(1)< 1,650 (2) < 2,750
(3) I 2,500 (4) I 1 500
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A sum of F 800 becomes F 956 in 3 years at a

certain rate of simple interest. If the rate of in-
terest is increased by 4%, what amount will the
same sum become in 3 years ?

800 TYU hl YT FERUT AN ohi Teh M= X W 3 99
H 956 TUT B Sl 1 Al <A1 3 4% &gl & STl 9%
st 3 99 | fehadt = Sma ?

(1) F 1025 (2)F 1042 (3)F 1052 (4) F 1024
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< 800 amounts to ¥ 920 in 3 years at simple in-
terest. If the interest rate is increased by 3%, it
would amount to

T 800 &I ¥URT WERUT =<9t W 398 H F 920 @
ST B 9fE =S st €T 3% @1 < Sl €, 9 I8 Ui
forat &1 Smat?

(1)T 1,056 (2)T 1,112 (3)T 1,182 (4) T 992
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With a given rate of simple inerest, the ratio of prin-
cipal and amount for a certain period of time is 4 : 5.
After 3 years, with the same rate of interest, the
ratio of the principal and amount becomes 5 : 7.
The rate of interest is

< T IR AN i et R 9 fedt guaEty & fau
e[ a1 fAgeA 4 : 5 & Ud | 81 3 99 & SUd 39l
TSl 1 X H A9 &1 fHge | 9 5 : 7 B
HEIERCI i =

(1) 4% (2) 6% (3) 5% (4) 7%
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A sum of ¥ 1500 is lent out in two parts in such a
way that the simple interest on one part at 10%
per annum for 5 years is equal to that on another

part at 12.5% per annum for 4 years. The sum
lent out at 12.5% is :

1500 %. &l i3 I0RT & 9 § 39 YR IUR I Sl
e T T 9 W 10% =iftier &t ST W 5 o6l o HER0
TS T AN W 12.5% dMfteh sl T H 4 I b HIEROT
S &% el g1 12.5% T IUR & T AR 8-

(1) T 500 (2)T 1000 (3)T750 (4)7T 1250
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Arun lends ¥ 20,000 to two of his friends. He
gives ¥ 12,000 to the first at 8% p.a. simple in-
terest. Arun wants to make a profit of 10% on
the whole. The simple interest rate at which he
should lend the remaining sum of money to the
second friend is

ST F 20,000, 3T I & HI IIR @ T T8 TTA
T W F 12,000, 8% Tt HER TS i T W <dl
21 3T T FeA AR W 10% 1 =ledl 81 7d: 59
I T TR I HT FE WERT A W W S Afew,
dqifer 39 sfooa oy et Ten?

(1) 8% (2) 16% (3) 12% (4) 13%




mémé,// FOR MORE DISCOUNT VISIT www.mahendras.org & USe PROMO CODE : E06321 /

A person lent ¥ 5,000 partly at the rate of 4 per
cent and partly at the rate of 5 per cent per an-
num simple interest. The total interest after 2
years is ¥ 440. To find the sum of money lent at
each of the above rates, ¥ 5,000 is to be divided in
the ratio :

15 AT 5,000 T i T T FHB5 90 4 Ffawa R 99
91 5 wfaerd afifes &t S W WERY &N W ITR @l
21 2 99 % g Hel oA 440 To T S U H W

T T e T3 U1 A & & fag 5,000 % &l 4=

UG | S =ifeul
(1)4:5 (2)3:2 3)5:4 (4)2:3
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A sum of Rs. 15,000 is invested partly at 12% per
annum and the remaining at 10% per annum
simple interest. If the total interest at the end of
2 years is Rs. 3,344 how much money was invested
at 10% per annum ?

15,000 TIT ht &FART hi AR T T 12% Ffd 99 &
I FFURT S 10% Wfd 99 i X T TER0 A W Hafva

e Sl @1 AfE 2 o6f o 9vE W ol < 3344 FUQ

Bl A 10% Yfd a9 i <X R fopar &=ufsn =1 fowr ferar =
|

(1) 6,200 (2) F 6,600 (3) F 6,400 (4) F 6,500
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A sum of ¥ 8,400 amounts to ¥ 11,046 at 8.75%
per annum simple interest in certain time. What
is the simple interest on the sum of # 9,600 at
the same rate for the same time?

8.75% Ufd ad &1 T T TR =M W 8,400 FIT =i
ufy v fAfv=d 999 § 11,046 T9¢ 81 ST 21 SH =4
< 3R SH 79T § 9,600 FU w1 U W HHROT =
N T

(1) 2,990 (2) 73,012 (3) 72,686 (4) ¥ 3,024
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Ram bought a bike for ¥ 60,000. He paid ¥ 10000
cash down and the rest at the end of 2 years at
15% simple interest. How much more did he pay
as simple interest ?

T4 5 60,000 0 § Tsh dgeh @&l 394 10,000 €9
TS P fRd IR 39 2 99 o 31 | 15% HER0l A
W IH RO AN o dR W fohad T08 S 3 UE?
(1) ¥ 15,000 (2) ¥ 25,000 (3) T 35,000 (4) T 50,000
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A sum of money amounts to ¥ 5,200 in 5 years

and to ¥ 5,680 in 7 years at simple interest. The
rate of interest per annum is

iz O TRT AERU A 9 5 98 | 5,200 . 91 7 99
H 5,680 %. B Sdl gl afteh oA i L B—

(1) 3% (2) 4% (3) 5% (4) 6%
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A sum of money at some rate of simple interest
amounts to ¥ 2,900 in 8 years and to ¥ 3,000 in
10 years. The rate of interest per annum is

HI FAURT IER0 =S hi fhdl T 8 98 H 2900
T G 10 99 § 3000 TUU Bl Sdl 2| aiftish oA i
T o

(1) 4% (2) 2%% (3) 3% (4) 2%
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Arun lends ¥ 20,000 to two of his friends. He
gives ¥ 12,000 to the first at 8% p.a. simple in-
terest. Arun wants to make a profit of 10% on
the whole. The simple interest rate at which he
should lend the remaining sum of money to the
second friend is

&0 F 20,000, T I I H IR A 2| TE T
T & F 12,000, 8% dTftieh VLR AT i &L T =l
21 3TEV 3T A W W 10% N =redl €1 31d: 3d
I AT TR I H R TR =9 W W A =few,
difeh 39 sfesa @y e Teh?

(1) 8% (2) 16% (3) 12% (4) 13%
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A sum of ¥ 7,930 is divided into three parts and
given on loan at 5% simple interest to A, B and C
for 2, 3 and 4 years respectively. If the amounts
of all three are equal after their respective peri-
ods of loan, then A received a loan of

7.930 TUT H1 U 3 9 § faafsid 1 St @ 31K A,
B Td C &l %H¥: 2, 3T 4 a9l & fal 5% & AR
S W RO % ®Y H < SGl B AfE dH iR S
SBUl ] Geldd 1afy & a5 el 2, 9l A 7 fohdd 9T
1 BU feram en?

(1) 3,050 (2)F2,760 (3)F2,750 (4) F 2,800
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A sum of ¥ 3100 is lent out at simple interest in
two parts — one at 8% per annum and another at
6% per annum. If the total annual interest is &

212, what is the money (in ¥) lent at the rate of
8%"7

3100 T i Tah ¥R S 9ET H WER0 18 T IR
& STl ®1 Tk AT 8% I W W qUl T AT 6% I
T W YR T sman 21 3k o anfies = 212 %9¢ 2,
8% W W W T M IR (FYT H) FAB?

(1) 1000 (2) 1250 (3) 1300 (4) 1400




